Decision Tree - Exercise

Build a Decision Tree classification model for the following data set.

record # age income student credit_rating
1 <=30 high no fair
2 <=30 high no excellent

3 31...40 high no fair yes

4 >40 medium no fair yés

5 >40 low yes fair yes

6 >40 low yes excellent no

7 31...40 low yes excellent yes

8 <=30 medium no fair no

9 <=30 low yes fair yes

e 10 >40 medium yes fair yes
11 <=30 medium yes excellent yes
) 12 31...40 medium no excellent yes
13 31...40 high yes fair yes

14 >40 medium no excellent no

Formulas:

Information: measures info required to classify any arbitrary record

I(s1,s2,...,8m) = —ZE“—logzﬂ
s s

i=1

Entropy: entropy of attribute A with values {al,a2,...,av}

S1j+ ...+ Smj

EA)=)
=1

Information Gain: information gained by branching on attribute A

T (S1)y0ey Smj)

Gain(A) = I(s1,s2,...,5m) —E(A)
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